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a—F dh itk BERR (kg) %R () il S Ll P (BAL)
Y3002 =4 (M) 49 32, 476 1,404 216 140 | BN 49kg
31700 F ¥ XY 100 6, 480 756 756 432 1 BN 1047 — A
31900 & 9 1,814 270 270 108 | BN 9kg
36800 Hox 1) 28 5, 400 270 162 162 | BN 28kg
34330 E727 8 1, 367 39 39 24 | BN 414
34400 k= h 10 2,484 248 248 248 | B 10kg
34100 #iJK 30 2,970 22 22 16| B 1504
34200 /L ‘ 112 17, 258 184 151 119 | &R 112kg
34500 E—w , 6 1, 426 238 238 238 | B 6kg
35500 %27 E 20 12, 020 184 173 173| BN " 68% > b
36200 fHEnE 50 3, 564 97 65 65 BN  50ke
36600 7-FhX 64 6, 070 97 97 86| BN 6dkg
34930 LA 44 8, 181 92 38 36| &N 1484
34800 BB 7 9, 461 130 130 130 | B 3% > b
37520 #RUF# 38 28, 177 270 270 151 | BP9 TO1273.
44500 TH % 43 2, 594 76 65 22 | B " 43kg
48000 F U 27 4,320 540 540 378 | B of
49470 Ry a L TIA—Y 4 3,110 86 86 86 | BN 361
71011 RS L—% 47,952 54 43 12| B 1, 2604
71030 K5k 756 76 76 76 | B T4
71032 Ko &) (R 3, 267 76 76 54| B 504
21120 /5945 A 54 11 11 11| B 54
30300 A% 60 3, 348 648 648 432 | Rl 64— A
31100 A3 45 2, 268 756 756 756 |REAR 37—
31200 '|LIH3E 4 1,728 86 86 86 | EEIRE 204%
31700 F ¥ Y 160 9, 504 594 594 594 | BT 164 — &
31800 1F 5N AR 5 2,376 108 86 86 | f& [ 25%%
31800 13 )hAM ' 4 2, 160 108 108 108 | &I 204%
131950 [RX 15 3,996 864 756 756 | BER B 54— 2
31930 —hX L 6 3, 564 59 59 59 |#E 604
32800 (12 5 2,117 43 43 39 | &= Iy 503
34300 72 35 9,612 1,512 1,512 1,188 HEXK T —A
34400 k= b 12 2,106 864 864 594 | REA 3r—2
34400 k= k 12 2, 052 864 594 594 | IR B 37—
34460 I =Lk F L M 10 4, 406 97 97 86 | BEIR & 4832 7
34100 A/ B 45 1,512 432 108 108 | FE IR B 74%
34520 FRE—~2 B L 4 648 324 324 324 | BRE 24— R
34571 T YA GR) 1 432 54 54 54 | B [E 8{H
34572 (XY H (H) 1 432 54 54 54 | #E[E 8{&
36200 % 2L 30 1,944 648 648 648 | Rl 37 —2A
36210 A—2 A > (H) 2L 30 3,888 1,296| 1,206  1,296|EE)AE 34— 2
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a—FK it 4 Fik PER (kg) % () S o el E (BLAL)
36600 7-FaE 2L 40 4,320 1,080 1,080 1,080 #£EH 447 —A
37200 L kO 2L 8 2,592 1,296 1,296 1,296 | F1[E 24— &
38100 £ L) o 8 2, 862 54 32 32 BERE 80/ 7
38100 A LW=if B L 4 2, 592 65 65 65 B IR 40,3 7
Y3137 Iy ALRL T2 428 36 36 36 K4y 1248
34700 £HHLAZ L 8 3,510 140 140 140 | EEIR B 2523y 7
34980 ~bFE 6 1,944 97 97 97 IR 2074
31310 AP 10 3, 456 76 76 59 | &[] 504%
31500 /A 20 6, 399 76 59 59 | 1& 10048
32500 HoiF 2 616 32 32 321 K4y 193
37560 BRIX 1 1,577 324 162 108 | K4y 1073y 7
36400 72N 2L 10 3,672 3,672 3,672 3,672 | H 17 —2
48820 J v MK 20 4,536 432 378 367 EIRE 1218
47100 7T—/L A ATV 23 7,139 324 324 227 "B 2648
49100 /3FF 180 15, 336 1,944 648 648 74 UL 164 — A
Y5006 IR (E4h) 90 23,825 . 2,732 2,732 2,570 BEIRE 94—
Y5006 FEOF(E4L) 56 13, 262 172 172 148 BEIRE 80/% v
aat 1,621 357, 360
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